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What is the fifth
month of the year?

Multiply 3 by 8.

“Which of these.
‘numbers is the
lowest? 160 106 601

Does 18 divide
exactly by 47

What fraction of How many
this shape is children had 5
shaded? sweets each from a

bag of 507

A bucket holds 10
Iitres. How much is
eld by 7 buckets?

Two times five
times five.

What s the name Find the diference
of this 3D shape? betuween half of 24
4 -
Tow many houss
from 11 O'clock in p
‘What s the total of
the moming vatil 1 hours 13 10 27
Ot e the odd numbers?
afiemoon?
‘Subtract nine from Ribbon costs 1
twenty-six pound for 1 metre.
How much s one.
and  balf metres?





